ver. /

== jnterbeds

== SAFE & PLAY

HIL TON

~_




HILTON

86x50 X2 | #10x50 X4 | M6x100 ED «7
gﬁﬁ’w N30 @wmm N40 @m»»m"
~ X4 | M6x15 X16 | M6x20 x4 i %50
G @ E
4mm X1| 6x13 x4
G1 D M6x15
x1|6mm x1| oxi1 X2




3/10

HILTON

NSO

M6x100 @ @

OM&

X2




4/10 HILTON

wooden frame metal frame
__ stelaz drewniany stelaz metalowy




5/10 HILTON




6/10

HILTON

IV

D

M6x15
X2




/

A

|
$ 444444444

g4 4444844444

oL/

0GX

NOL1IH




0L/8

NOL1IH




0L/6

NOL1IH




10/10 HILTON

L3a+L3b

VII




